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1. A model giraffe Is made to a scale of 1:150.
What does this tell you about:
a) the height of the actual giraffe
b) the height of the model giraffe?
¢} the height of the actual giraffe if the
model is 3,5 cm tall.

2. Amap has the scale:’

[ I 1 ]
Om 10m 20m 50m

Use the scale bar to determine:
a) how many centimetres on the map represent an actual distance of:
i 20m
i) 50m
fi) 100m o
k) how many metres on the ground are represented on the map by:
i) -;-cm

3. Amap has a scale of 2 cm representing 1 km.
if two villages are 8 cm apart on the map, what is the actual distance
between the villages?

"4, Amap hasascale of 1:400,
Calculate the real distances i'epre;ented- on themap by:
a}- 8cm S SRR ‘
b) 21cm A
5. Amodel is made using the scale 1:20.

The table gives details of the model and the real Moses Mabhida Sport
Stadium in Durban. Complete the table. ' -

o

a) | length of the field 600 cm

b) | height of the stadium 30m
¢) | height of entrance gate 20cm

d) | width of entrance gate i 1 , >5’m
e) width. of field 450 cm

f) | number of seats — 70000

6. A map has dimensions 25 cm by 37,5 cm.,
The scale printed onitis 1:2000.

The map is reduced in:size to fit a space of 10 cm by 15 cmin a book.
a) How must the scale of the map in the book be adapted?

b) What are the dimensions on the map of the rectangular area on ;
the ground? ;




Lists, two-way tables and tree diagrams

Calculating the probability can be made easier by systematically listing
all the possible outcomes.

A compound event consists of two or more separate events or oufcomes
to be considered as one single event or outcome.

If a compound event consists of two happenings, a two-way table can
be used to get all possible outcomes in a systematic way.

In probability the
word ‘gripciudes the
possibility of ‘and”.

For example, ‘a head ora
prime ri@nber’ means ‘a
head, of2 prime number,
or _uoam._mma anda

prime _W&mw

A prime numberisa
number greater than

1 whose only two factors
are 1 and itself.

Example of prime
numbers: 2; 3;5; 7; 11; 13;

17;19; 23,

Use a two-way ﬂmgm fo determine the Eovmg&y &mﬁ &m_ ﬁcﬁw :
mEvam of the mcnm on aam Ey@mmeﬂ faces is nine.

Heﬁm nﬁﬁwﬁ._.em U@mﬁ Te oﬁncémm. ,m x6=36 . SR
Nurmber of successful autcomes (haded cellsf: 4 .+ .
w@%ﬁ.;mﬁwu - g IR IR ISR R

. e

If a compound event consists of more than two happenings, it is not
possible to list the possible outcomes on a two-way table.

If a compound event consists of two or more happenings, a tree diagram
can be used to get all the possible outcomes in a systematic way.

P D v MR T R N LTS YT -

A parent having three children is chosen at.
randotn, Use a tree diagram to detetmine the
probability of this mother having two @3&.,. .
m wﬁa orig mi in any order.

LetB %ﬂoﬁ aboy and G a girl.
1 chiiid 20 ¢hild 3 child On.ﬁncup.m

B BBB .
wAwAnHm BBG M
~ G5 BGB |

G BGG
B GBB ”
G A i A_m g w
B GGB w
: G=—"_ G GGG m

Total number of possible cutcomes: 8
| Number of successful outcomes: 3

i P@boys, 1gi) =32 ]
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